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| . Read the paragraph. Then fill in the bubble
l that best completes each sentence.

hat foods cause the most problems in

“ a car? Chocolate is one. It gets all

' over things. When drivers try to clean up

| the mess, they often have accidents.

3“ Hot drinks such as coffee are also
|

dangerous. Why? They spill. Greasy

| foods cause trouble when they drip. \
E Jelly doughnuts cause problems 1k
,:h too. Can you guess why? i
j!g B B B S W @ E R B BT I 6 S 6 I S S 6 B I S @I S TR
i " 1. The mainideaof 2. Adetailthattells = 3. The best title for
: " the paragraph is 7 more about the : this paragraph .
| : O A foods that : main idea is : would be
Z are good for QO A. greasy foods (O A. Chocolate ,
i ; car rides : that drip : Causes :
.- 5 , cause : Accidents i
; : (O B. the problems problems : :
il . caused by ~_ : O B. Please Eat A
" : chocolate ! O B. drivers should Neatly :
: : pay attention )
: O . foods that to thauroad : (O C. Messy Foods .
cause : : in Cars :
, problems ] (O C. cell phones : :
g in cars : are dangerous .
. : in cars .
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8. Problem Solving: Use Reasoning |

Read and solve each problem. Write the number equation and show your
thinking. Remember to answer in a complete sentence.

1. A bush had eighteen berries. A raccoon ate nine of the berries.
Then the raccoon ate six fish. How many berries are left?

2. A bowl holds sixteen oranges and four apples. Children eat nine
oranges. How many oranges are left in the bowl?

3. Seventy-two people are at the LA County Fair. Forty-five are on the
rides. Are there more or fewer than thirty people who are not on
rides?

4. Twenty-nine people ride on the Ferris wheel. Thirty-eight more
people join them. Are there more or fewer than fifty people on the
Ferris wheel?



Name

Logic

When Marvin Monkey dances, people put money in his cup?
Every hour Marvin counts his money. Marvin is a very smart
monkey. |

|. Monday he had 16 cents.
He had 3 coins.
What were they?

OO0

2. Tuesday he had 5 coins.
He had 21| cents.
What were the coins?

OOOOO

(f“
; @D

g -

3. Wednesday he had |9 cents. 5. Friday he had 3 coins.
He had 6 coins. He had 7 cents.
What were they? What were the coins!?
4. Thursday he had 4 coins. . Saturday he had 26 cents.
He had 40 cents. He had 4 coins.
What were the coins? What were they?

OOOO 9000
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Read each paragraph. Then fill in the bubble
that best completes each sentence.

Languages of the World

' ot everyone in the world

N speaks English. In fact, more
people speak Chinese than any other
language in the world. English is the
second-most-spoken language. Other
major languages are Russian and
Hindi. More than 300 million people
speak Hindi. Most of these people are

from India.

The Race
, he race was about to begin. The
announcer asked for the crowd’s

attention. Then he told the runners to

S A B eSS AAIST ST EATTENRLISETITETEan N

1. In this paragraph, the word
» major must mean

(O A. foreign and unknown
O 8. large and important

O c. difficult and different

AWM T WS E S ST EEGEE NSNS TR aee

2. In this paragraph, the
word brief must mean

take their places at the starting line. For a : O A. rude

brief moment, there was silence. Then the
announcer velled, “Ready! Set! Go!” The

race was on. The runners were off around

(O B. noisy
QO C. short

the track, and the crowd started cheering.  EREEETRE T R et
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8. Problem Solving: Use Reasoning 2

Read and solve each problem. Write the number equation and show your
thinking. Remember to answer in a complete sentence.

1. Mrs. Kennedy had nineteen dollars. Then she found seventeen dollars
more. How much money does she have now?

2. The building is thirty feet tall. Spiderman has crawled fourteen
feet. How much farther does Spiderman need to crawl to get to the
top?

3. Mrs. Kennedy has thirty-nine Hello Kitty stickers and fifty-two Care
Bear stickers. How many more Care Bear stickers than Hello Kitty
stickers does she have?

4. A bakery makes sixty-four muffins. They sell twenty-nine by noon.
How many muffins are lef1?



T LR 3 L Making Inferences

practice Page \0

...........................

/ Name ) Date
/4

Read each paragraph. Then fill in the bubble
that best answers each question.

The Arrival

gm, cargo plane lands at the airport
,s'l, in the middle of the night. By

5:30 A.M. the valuable cargo is on a

truck. An hour after that, a painting is

carefully unpacked in a

large building. Specially 1. Which sentence is most likely true?
trained experts check to be O A. The painting is to be in an airport
exhibit.

sure that the artwork is in
good condition. Later that O B. The painting was sent for an art show.
day the painting will be one (O C. The painting was not packed very well.

of many hanging in a gallery.

Karl Gets Up
% arl sat and gazed at the view. He

could see some of his friends in the
2. Which sentence is
most likely true?

(O A. Karl is at the beach.

distance. Lazily, he moved his feet back
and forth in the sand. It felt fine and
warm. Karl was so comfortable, it was s
almost too much trouble to get up. But that () Baersmmindyday
was why he was here. Suddenly, he stood O C. Karl is in the desert.
and yelled “Here I come!” Then he ran

toward the water.
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8. Problem Solving: Use Reasoning 3

Read and solve each problem. Write the number equation and show your
thinking. Remember to answer in a complete sentence.

la. Mrs. Kennedy has seventeen purple bows and thirteen blue bows.
How many bows does she have in all?

1b. Mrs. Kennedy gives ten bows to her sister. How many bows does
she have left?

2a. Mrs. Kennedy twelve eggs in a carton. She has sixteen eggs ina
bowl. How many eggs does she have in all?

2b. Mrs. Kennedy cooks fourteen eggs for her family's breakfast. How
many eggs does she have in all?



Logic Mind Benders® Beginning Book 2

ACTIVITY 10
DIRECTIONS: Fill in the chart using Y for yes or N for no as you solve

A B CD

R ®

Two girls and their parents make up the Sanchez family.
Find the first letter of each person's name.

1. People say Dona gets her curly hair from her
father, Carlos.

2. Anita is younger than Bonita but older than Dona.

10 © 2005 The Critical Thinking Co. » www.CriticalThinking.com » 800-458-4849



Narma SFRAR .

ftitle:)

Early man had to learn how to make his own tools. He used stones to
make them. He first looked for stones that were the shape he needed. He
used the stones just the way they were.

Later, he learned to change the shape of stones. He found that, if he hit one stone
with another, he could chip some of it away until it was the shape he needed.

Then, affer a few years, he found that he could use wood and bones to make

his tools better. He made knives, axes, spears, scrapers, and hammers.
J
Main Idac

1. Write a sentence that tells what this story is mostly about.

Vocabulary
2. What does the word chip mean in this story?
a. a small piece of food
b. to cut a small piece from
c. a token used for playing games

D

y
(Aelails

3. What did early man use to make his fools better?

. ) 2
Ly remdlin A Hha A erars
QNG fhe Answer
<
o

4. \Write the sentence that fells what early man first used to make tools.

_ause ano clieci

How did early man chip away at the stones to shape them?
. he threw them on the ground

he hit one stone with another

he carved them with @ hammer and a nail |

O

a oo

g

O~

. Give the story a fitle. Write the fitle on

wriremedia Puliic ations

Comprohencion Practice 3




= Word Problems

Read and solve each problem. Write the number equation and show your
thinking. Remember to answer in a complete sentence.

~

1. A bush had eighteen berries. A raccoon ate nine of the berries.
Then the raccoon ate six fish. How many berries are left?

2. A bowl holds sixteen oranges and four apples. Children eat nine
oranges. How many oranges are left in the bowl?

3. Seventy-two people are at the LA County Fair. Forty-five are on the
rides. Are there more or fewer than thirty people who are not on
rides?

4. Twenty-nine people ride on the Ferris wheel. Thirty-eight more
people join them. Are there more or fewer than fifty people on the
Ferris wheel?



SQUARE PUZILE d—

. (ut out-
each of the five shapes below and place DN
the pieces fogether in the shape of a
square.

60 GETTING SMARTER EVERY DAY ® BOOK A © Dale Seymour M{



Use these numbers to

Name:

Grammar Ad-Libs 2

Think of some nouns and verbs, and write them on the lines.

| 8
2.
3
4,

Grammar Ad Libs

WW

N

verb: 5. verb:

verb: 6. noun (thing):

plural noun (things): 7. plural noun (things):
plural noun (persons):

Staying in Shape

To stay in shape and your body,
m

you should several times a week and eat
(2

healthy : recommend that you
) @

a few miles each day and stretch properly

(5)

when you finish. Then do some basic -lifting.

()

Lift two 5-pound s until you are exhausted.
@l

Follow up your exercise routine with a healthy meal of

fruit juice, , and vegetables. You will feel
(7)

great!

Make 13 six different

|
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